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Biology 11 – Practice Exam
Multiple Choice.  Please mark your answer on the test sheet first and then on the computer card.

[image: image1.png]


1.
The structure labeled Y is green.  It is likely responsible for


a.
transporting cell products (protein)


b.
digesting unwanted materials


c.
producing energy through cellular respiration


d.
producing glucose through photosynthesis

2.
The structure labeled W is responsible for repackaging 
cell products. It is called the 


a.
smooth endoplasmic reticulum

b.
rough endoplasmic reticulum

c.
nucleolus

d.
Golgi body
3. The diagram above is most likely a(n)

a. virus

b. bacteria

c. plant cell

d. animal cell

4.
Which of the following is true of plant cells and animal cells?


a.  
plant cells have a cell membrane & cell wall while animal cells have a cell membrane



b.  
plant cells contain glycogen while animal cells contain starch


c.  
animal cells are more rigid than plant cells


d.
plant cells do not contain chromosomes


Use the following steps to answer question 6



1.  mRNA leaves the nucleus and attaches to a ribosome



2.  tRNA brings amino acids and anticodon matches with codon



3.  DNA unzips at the base pairs and mRNA is made



4.  amino acids link together to form a protein

5.
The correct order of the above steps during protein synthesis is


a.
3, 2, 1, 4


b.
3, 1, 2, 4


c.
2, 1, 3, 4


d.
1, 3, 4, 2

6.
Which of the following is not a base pair of DNA


a.
Cytosine -Guanine


b.
Thymine -Adenine


c.
Guanine -Adenine


d.
Adenine -Thymine

7.
 DNA is often called the "code of life".  Actually it contains the code for


a.
the sequence of amino acids in a protein


b.
the sequence of base pairs


c.
producing variation


d.
the sequence of enzymes in a chemical reaction

8.
Consider the following portion of an mRNA strand:

UAC GGG AUA

What are the anticodons that will be paired to this strand?


a.
ATG CCC TAT

b.
ATA GGG TAC

c.
AUG CCC UAU

d.
UAC GGG AUA
9.
What is the proper order of the diagrams to the right to explain virus reproduction?
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1,2,3,4,5

b. 2,3,5,1,4

c. 2,1,4,3,5

d. 5,4,3,2,1

10.
The above diagram above shows that when a virus attacks a bacterial cell:

a. the virus enters the cell

b. only the coat enters the cell

c. only the DNA enters

d. the tail enters the cell
11.
Bacteria are called prokaryote cells because 


a.
they have a nuclear membrane around their plasmid



b.
they have organelles like endoplasmic reticulum


c.
their genetic material is not surrounded by a nuclear membrane


d.
they are autotrophs and produce food by photosynthesis


12. 
An organism that can produce its own food is called a(n)


a.
heterotroph


b.
autotroph


c.
zooplankton


d.
consumer

13.
Which of the following describes the effect of antibiotics.


a.
destroy viruses and bacteria


b.
prevent bacterial growth and reproduction


c.
produced by the immune system to attach to antigens


d.
help sterilize an area infected with bacteria

14.
Bacteria growing on an agar plate will eventually enter the death phase of growth because

a. the available nutrients run out

b. space is limited

c. the waste byproducts accumulate

d. all of the above

15.
These organisms are believed to be the oldest living things.


a.
protists


b.
viruses


c.
bacteria


d.
porifera

16.
Which two of the following organisms are most closely related?

a. Drosophila melanogaster and Drosophila psudobscura

b. Drosophila melanogaster and Lumbricus melanogaster
c. Lumbricus terrestris and Rana pipiens
d. Rattus norvegicus and Rana pipiens
17.
When organisms survive to reproduce they are said to be
a. 
adapted
b. 
symbiotic
c. 
virulent
d. 
mutants

18.
When the average tail length of male peacocks does not change much from generation to generation, we say that 


 is occurring.

a.
macroevolution


b.
stabilizing selection

c.
selective pressures


d.
directional selection
19.
The neck of a giraffe and the neck of a human both have 7 vertebrae.  This is considered evidence for evolution from the study of:


a.
the fossil record.


b.
comparative anatomy.


c.
comparative embryology.


d.
geographical distribution.

20.
According to Darwin, the effect of the environment in evolution is to:


a.
prevent the occurrence of mutations.


b.
act as a selective force on variations in species


c.
create new genetic combinations


d.
provide stable conditions favorable to the survival of all species

21.
The Lamarckian interpretation of appearance of webbed toes of the Galapagos Iguana would conclude that:


a.
development of webbed toes was due to mutations.


b.
by swimming, the skin between the toes was stretched and became webbed.


c.
lizards with webbed toes were naturally selected for in the marine environment


d.
the marine Iguana evolved as a result of isolation.

22.
Variation in offspring is created by
a.
mutation and sexual reproduction
b. 
mutation and asexual reproduction
c. 
mutation only
d. 
sexual and asexual reproduction
23
According to sexual selection theory, most females should use this strategy for reproduction


a.
compete for males


b.
be really choosy


c.
be monogamous


d.
use binary fission

24.
Genetic drift usually has the greatest effect on the frequency of alleles in a

a. small population

b. large population

c. mutating population
d. population that is above the carrying capacity of the environment
25.
Which of the following would be the most probable effect of reproductive isolation in a population?

a. It has no effect on variations to the species

b. It prevents the occurrence of mutations

c. It favors the production of new species

d. It encourages the mixing of gene pools

26.
Which of the following describe reproduction in earthworms?


a.
hermaphrodites that use cross fertilization and lay eggs in a mucus cocoon


b.
separate males and females that use internal fertilization to produce eggs


c.
hermaphrodites that fertilize themselves 


d.
definite male and female that incubate eggs inside female

27.
Photosynthesis can be described as


a.
using sunlight, carbon dioxide and water to produce food and oxygen


b.
using food and oxygen to produce energy, carbon dioxide and water


c.
using sunlight and oxygen to produce energy and carbon dioxide


d.
using food and carbon dioxide to produce energy and oxygen

28.
Which of the following describes invertebrates?



characteristics
backbone

examples


a.
smallest group of animals
present

insects, fish


b.
largest group of animals
present

grasshopper, earthworm



c.
largest group of animals
absent

starfish, crabs


d.
not true animals
absent

starfish, corals

29.
Of the following phyla, which has parasitic members?

a. platyhelminthes

b. cnidaria

c. porifera

d. none of the above

30.
Which of the following describes the most successful group of mammals


a.
marsupials -embryo receives nutrients through attachment to uterus


b.
monotremes -embryo completes development in pouch


c.
placentals -embryo receives nutrients through attachment to uterus


d.
marsupials -embryo completes development in pouch

31.
Which of the following is not an example of a selective pressure?

a. predators

b. climate

c. food supply

d. analogous structures

32.
Most land arthropods are small because:

a.
their lungs cannot supply a large organism.

b.
the weight of their skeletons would be too much.

c.
a large arthropod would require too large a heart.

d.
a large arthropod would have too great a volume to surface area ratio 
33.
The name of this phylum means “spiny skinned”.  Several members include

a. starfish, sand dollars, and sea urchins

b. sea urchins, puffer fish, and lobsters

c. sea cucumbers, squid, and anemones

d. coral, sponges, and barnacles

34.
Metabolic rate in endothermic animals is not linked to


a.
the rate of photosynthesis


b.
the rate of cellular respiration


c.
body temperature


d.
respiration and heart rates

35.
Which of the following is an advantage for fish, amphibians and reptiles?


a.
they can breathe in water and on land


b.
they can survive on low calorie foods


c.
they can maintain a constant body temperature


d.
they can be active in cold climates

36.
According to the evolutionary tree pictured, species C is most closely related to
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a.
species A


b.
species B


c.
species D


d.
species E

37.
According to the evolutionary tree, species A and E


a.
are the most closely related on the tree


b.
do not have a shared evolutionary history at all


c.
shared a common ancestor very recently


d.
shared a common ancestor, but not very recently

Section B:  Short Answer (21 marks)  
                       
Carefully define or explain each of the following.   Use note form and diagrams where necessary.   
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Use the following chart to answer question 1 

1.
Given the following DNA code and the chart of mRNA codons, transcribe the line of DNA below and show the mRNA that would be formed.  Then use the chart above and translate the mRNA to show the chain of amino acids that would be made.  (2 marks)
DNA
G C A C C T A T A G G A A C C
mRNA  C G U G G A U A U C C U U G G


 Arginine – Glycine – Tyrosine – Proline – Tryptophan 
2.
Some scientists consider viruses to be “living” and some think they are “non-living”. Describe one characteristic of viruses that would support each side of the argument (one for each).  (2 marks)

Non-living – need host cell, no true organelles, etc. 
Living – Contain DNA, reproduce, etc.
3.
Describe 2 differences between cellular respiration and photosynthesis. (2 marks)

	
	Cellular Respiration
	Photosynthesis

	Difference #1


	All cells

	Autotrophs only

	Difference #2


	Turn sugar into energy

	Turn energy into sugar


                         TIGER         
LEOPARD               HERRING


       SALAMANDER    
   FROG
             
      GULL             
WOLF 

MAN

Kingdom          Animalia
 
 Animalia
       Animalia

Animalia
Animalia

Phylum
           Chordata

Chordata
       Chordata

Chordata
Chordata

Class
            Amphibia

Amphibia
          Aves           
Mammalia 
Mammalia

Order
            Caudata
   
Anura
     
 Charadriiformes

Carnivora
Primates

Family
      Ambystomatidae  
Ranidae            
         Laridae

Canidae

Hominidae

Genus
          Ambystoma
   Rana
                         Larus
   
Canis

Homo

Species
             triginum
 
 pipiens  
      argentatus
  
lupus

sapiens

4. a)
What is the scientific name for the tiger salamander? (1 mark)



Ambystoma triginum
b)
Which organism(s) on the list have/has the fewest close relatives?  (1 mark)



Gull
c)
What is the first taxonomic level that would differentiate the leopard frog from the wolf?  
(1 mark)



      Class
5.  Name the 4 parts of natural selection theory and use a real-life example to explain this process. You cannot use neck length in giraffes as your example. You can draw little pictures as part of your explanation if you think it might help. (4 marks)


Variation, selective pressure, survival of the fittest, differential reproduction


7.
Bacteria can be found growing in many places and under a wide variety of conditions. 

a.   What is the difference between (or the definition of) aerobic and anaerobic bacteria? 


(2 marks)


Oxygen required vs. not
b.  Where might you be likely to find a sample of aerobic bacteria growing and where would you find a sample of anaerobic bacteria growing?  (2 marks)



Skin surface, human intestine
8.
Describe 2 adaptations that were needed by the first reptiles that enabled them to survive on land, away from water.   Describe how these adaptations helped reptiles survive away from water. 
(4 marks)

Reproduction without water, thicker skin, etc. 
